N o v b~ W N

42MM SYSTEMS

Maximum size (W x H): 1400 x 2750 mm
Minimum size (W x H): 500 x 700 mm
Element weight: max. 180 kg

12.11.0xx  Stile S1200 LED 8 12.16.0xx  Top and bottom rail S1200 LED
10.42.050 Cover set for LED profiles 9 10.01.013 Top roller $1200 left
10.01.070  Reinforcement for punching holes 10 10.01.014 Top roller S1200 right
10.01.120 Bottom roller incl. antijump 11 10.07.215 Washer for frame screw
10.07.xxx  Frame screw 6.3 x 32mm 12 80.24.010 Cover profile f. top rail LED
10.42.052  Screw M6 x 12 13 27.01.035 Felt strip

10.42.051 Square nut M6

1



42MM SYSTEMS

packing

drawing description ‘ length unit unit ‘
Stiles
12.11.022 stile S1200 LED silver (EV1) 5600 8 1
12.11.042 light bronze (C32) 5600 8 1
12.11.052 dark bronze (C34) 5600 8 1
12.11.063 white (RAL9016) 5600 8 1
12.11.066 black mat 5600 8 1
Cﬂ‘ 12.17.010 cover profile LED translucent 2800 1 1
Rails
12.16.020 top and btm. rail S1200 LED silver (EV1) 5000 8 1
12.16.040 light bronze (C32) 5000 8 1
12.16.050 dark bronze (C34) 5000 8 1
12.16.060 white (RAL9016) 5000 8 1
12.16.065 black mat 5000 8 1
D Q 80.24.010 cover profile f. top rail LED translucent 4000 1 1
Dividing rails
@ 12.22.022 dividing rail S42 glued,12mm silver (EV1) 5600 8 1
12.22.040 light bronze (C32) 5000 8 1
12.22.052 dark bronze (C34) 5600 8 1
12.22.060 white (RAL9016) 5000 8 1
12.22.066 black mat 5600 8 1
14.22.020 stabilization rail silver (EV1) 5000 1 1
14.22.040 light bronze (C32) 5000 1 1
14.22.050 dark bronze (C34) 5000 1 1
14.22.060 white (RAL 9016) 5000 1 1
14.22.065 black mat 5000 1 1
10.04.121 connect. f. stabilization rail nickel mat 1 1
10.04.122 nickel black 1 1
Fittings
. % 10.01.014 top roller S1200 right 50 1
= 10.01.013 left 50 1
10.01.120 bottom roller incl. antijump, 30mm screw 50 1
10.01.025 30mm screw, non corrosive 50 1
10.01.121 security bottom roller 30mm screw, burnished 50 1
10.01.119 screw f.bottom roller M5x30, stainl.steel w. TufLok 50 100
10.01.122 M5x30, black 50 100
10.01.123 M5x30, white 50 100
10.01.070 reinforcement f.punching holes  50mm 100 1
0
rd 10.07.012 frame screws 6,3 x 32mm stainless steel 500 100
10.07.211 light bronze 50 100
10.07.213 black oxidized 50 100
10.07.214 silver mat 50 100
10.07.212 white head 50 100

12



42mm

packing
unit

‘ length

drawing description

unit ‘

10.07.215 washer for frame screw (dividing rail), steel 1 1
10.42.052 screw M6x12 for top roller S1200 1 1
10.42.051 square nut M6 1 1

2 10.42.060 cover set for LED profiles silver gray 1 1

= w’- 10.42.061 white 1 1
Z 10.42.062 black 1 1
% 10.42.063 mounting plate set for energy chain S1200 LED 1 1
10.42.046 energy chain incl. connection 145 elements 1 1

27.01.035 felt strip 1.400mm 1 1

fa) 10.42.049 cable channel, self-adhesive 1.000mm, silver 1 1

Electrical parts $1200 LED

10.42.040 LED strip for stile S1200 2.800mm, incl. lead 2m 1 1
10.42.041 LED strip for rail S1200 2.800mm, incl. leads 2+3m 1 1
10.42.044 LED extension 5.000mm 1 1
10.42.043 LED Y-distributor 1 1
10.42.030 LED 1-channel control incLEVG  + remote control, STARTER-KIT 1 1
10.42.031 LED 1-channel control inc.EVG ~ w/o remote control, FOLLOW-KIT 1 1
10.42.035 LED 4-channel control incl.LEVG  + remote control, STARTER-KIT 1 1
10.42.036 LED 4-channel control incl.EVG ~ w/o remote control, FOLLOW-KIT 1 1
10.42.045 gateway (app control) 1 1
10.42.055 grommet for top track (top) $1200 LED door 1 100
10.42.056 grommet for top track (side) $1200 LED door 1 100
Gaskets

w 10.07.031 4mm gasket all series transparent 100 100
10.07.032 5mm gasket all series transparent 100 100
10.07.033 6mm gasket all series transparent 100 100
10.07.029 7mm gasket all series transparent 100 100
10.07.034 8mm gasket all series transparent 100 100
10.07.131 4mm gasket all series dark 100 100
10.07.133 6mm gasket all series dark 100 100
10.07.129 7mm gasket all series dark 100 100
10.07.134 8mm gasket all series dark 100 100

13




42MM SYSTEMS

packing unit |

| length

drawing description unit
Plugs
O 20.08.566 bump stop transparent, 10 x 1,5mm 100 100
O 20.08.562 plugs for drilling holes 13mm silver 20 1
20.08.563 black mat 20 1
20.08.564 light bronze 20 1
20.08.565 white 20 1
Handles
10.01.911 handle rectangular,self-adhes. silver anodized 1 1
10.01.912 light bronze lacquered 1 1
10.01.913 dark bronze lacquered 1 1
10.01.914 white lacquered 1 1
10.01.915 black mat lacquered 1 1
) 10.01.909 screw M4 x 14mm 100 100
- 10.01.941 handle rectang. (backside) for walk-through, silver anodized 1 1
. 10.01.942 walk-through, I-bronze lacq. 1 1
10.01.943 walk-through, d- bronze lacq. 1 1
- 10.01.944 walkthrough, white lacquered 1 1
. 10.01.945 walkthrough, black mat lacq. 1 1
Additional equipment
25.12.015 double side tape f. tracks 50mm x 25m 1 1
25.12.044 double side tape for insert b.track, 42 sys., 30mm x 25m 1 1
25.12.062 double side tape for LED cover profile, 6mm x 50m 1 1
25.12.063 double side tape f. div. rail 12mm, 9mm x 50m, white 1 1
25.12.064 12mm, 9mm x 50m, black 1 1
30.11.040 punching tool $1200 6BL091003 1 1
30.14.018 drilling template S1200 1 1
30.15.031 press-on tool for LED stripe 1 1
30.14.020 countersink set w. guiding pin  for drilling template S1200 1 1
30.12.020 punching machine hydropneumatic DYNO 6 1 1
30.14.030 plastic hammer, white size 3, 70x120mm 1 1
30.15.020 grind rubber grain size 120 1 1
30.15.010 grain size 240 1 1

14




